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Answers to this Paper must be written on the paper provided separately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question pape?.
The time given at the head of this Paper is the time allowed for writing thz answers.

c

Attempt all-questions from Section A and anyfour questions from Sectio: ' B
All working, including rough work, must be clearly shown and must be done on the
- same sheet as the rest of the answer. : -
Omission of essential working will result in loss of marks.
The intended marks Jor questions or parts of questions are given in brackets [ ].
Mathematical tables are provided.

SECTION A (40 marks)
Attempt all questions from this section

y(fuestion 1 ' _ _. i

\}xf ~ Prove that: (sec’x — 1)cot’x = 1. B et o et ’ | - [3]
- 2 3 —05. y] s e
, J)ar)' _'IfAl=[ 1 x] dB= [ __2], g/n‘ran+2B =2I)I is the identity
» : atrmoforder 2x2,findxandy. ]/'7-‘ =¢ 9. - : : (3]

Fmd the values of ‘p ‘for which the given quidratﬂyatlon has equal
roots 9x* + px + 1 = 0. Also find the roots of ’Lf l : O[]

‘Zone H CPE 2019’ Pg. No: 1 of6

Scanned by CamScanner



Question 2
/‘l- I‘l r’ W por- - g
) Inthe figure alongside. AD and CB are perpmdu ular to AL, CO =6 am
- "
and DO = 0 cov and the area of ABOC = 108 em”, fnd the aiea of m-.OD. (3]

: C “ C 2_1», 3”""'“]
o J—
,/J 5

Ar- 0

D

\97{ A cylindér whose helght is 8 cm and radius of its base s 4 cm, is melted. c
@ [3]

How many spheres of radius 2 cm can be made?
@ A straight line passes through the points P(-1, 4) and Q(5, —2). It intersects
the co-ordinate axes at points A and B. M is the mid- point of the segment AB.

Find: — /\‘ y [4]
SR (—~1.\4)\ B
O

A > X
[ (5, -2)
(1) the equation of the line.
(ii) the co-ordinates of A and B.
(iii) the co-ordinates of M.
Question 3 _ o
@ Construct a regular hexagon of side 4.7 cm. Inscribe a circle in it. 3]
2pq y+p,y+q % - 5
b =——, then find : B 3]
b)) Ify= Dt en -l‘n m

(© If l'i is-'the mean of 3, 8, 11,2, x, 21, 19, 13, ]7?'fnid ‘x’ and the median

of the given data. 4 [4]
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\/"‘Question d

\(,g) Solve the following inequation and represent the solution seton

the number line: [3
5 1 2x
——2g< E-—-;s?. ,wherex eN =217 £ -2 S
(b) For what value of k, 2k — 7, k + 5 and 3k +2 are three consecutive terms
ofan AP. ez Vi (3]
@ In the given figure, O is the centre of the circle. Determine :
i) «£PQR
(i) Reflex ZPOR ] [4]
< 2
NN
P :'.":?:_‘;} M S
e AV 4
{.\}!T < o SR
§§§ ARG
PO AT
A ANC N ,.L\"L
. “F,% : c
RS SECTION B (40 marks)

: / (Attempt any four questions from this section)
£ Question 5
(a) Ifthe first term of GP is 3 and the sum of the second and third term is 90.

Find the common ratio of G.P. [3)
® 1£Q=[" A ’25] and Q® — 5Q = kI, where I is an identity matrix of order

2 x 2. Find the value of scalar factor k. . 31
()  The points are A(2, 0) and B(5, -3). [4]

() Name the axis in which A is an invariant point.

(i) Give example of one more point which invariant under the axis
bt found in (i)
=7.. (i) Find B’ the image of the point B when reflected in the origin.
"7 (iv) Find the co-ordinate of B” when B is reflected in the Y-axis.
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Omrstiun 6
Gy A mao seils 60 shares. The face value of «ach share of the company !Sy‘l J
paying 12% dividend. He sells each shaic at 21 and invests procceds in

another company where the face value of each share isJ 6 paying 8%

dividend, He buys the sharcs in the second company at €9 each. Find the

[31

difference in his dividend earned.

(b). A man is standing on the bank of a river, finds that the angle subtended

by a tree on the opposite bank is 60°, he moves 60 m back and observes

that the angle of elevation is changed to 30°. Find the helght of the tree

and the width of the river. , | [ [3]~
(c) Jse ruler and compasses only for the following question. All construction

lines and arcs must be \.learly shown. Construct aAABC in which

AB=7cm, ZCAB = 60°, AC =5 cm. Construct the locus of * o

(1) Points equidistant from AR and AC. .
(i)  Points equidistant from BA and BC. - - LB

Hence construct a circle toﬁcbing the three sides of the t_riahglc internally [4] < -
/ Question 7 ' ‘ |
L2y Inthe adjoining figure; AC is diameter of the circle. AB = BC and

ZAED = 118°, calculate :
MJ ZDEC £\ (ii) ZDAB

A boy spends 10 on first day, 220 on second day, 40 on third dayand

so on. Find how much, in all, will he spend in 12 days?. ’w [3]
What number must be added to each of the numbers 6, 15, 20 and 43 to

make them in proporthﬂ"\i‘E?/ \ (4]
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wS S\ die s 6 faces marked by the ghven

numbers o3 shown bejow : 3
T *ﬁ, [ [T (=
Lo i |
The die is thrown once. What is the probability of getting :
(1) a positive integer? ::%—
(i}  an integer greater than -3? S _
L (m)  the smallest integer? :E-
= \(y"‘ﬁ/ - Giventhatx+2 zmd X -3 are factara of *+ax + b; calculate the values
~ ofaandb.faz34) b= €\ Bl
d2)  The given block is made of two solids : a cone and a hemisphere. If the
Height and the base radius of the cone are 24 cm and 10 cm respectively
and the diameter of the hemisphere is 10 cm; find the total surface area
of the block. Correct your answer upto one decimal place.
(Take T = 3. 4") AN R [4]
AGERTIITA PP e T
Shopi~ b - ' I LL3AY, .
Tio . . S (E), yercn
flemnoi-<od 101 /
= - :
 Mob. 521252050, ‘ N,
10 cm
¢ Question 9
1-sinA '
P t: [———= —tan A 3
(a) rove tha TtsinA sec A . [3]
(b)  The co-ordinates of the centroid of atriangle PQR are (2, —5). If Q(-6, 5),
R = (11, 8), calculate the co-ordinate of P. ' [3]
' (6) Five years ago, a women’s age was the square of her son’s age. Ten years =
hence her age will be twice that of her son’s age. Find :
(i) the age of the son five years ago.
(i)  the present age of the woman. [4]
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/ Crugsiion 10 '
Solve the following equa'ion for x and give your answer correct b5

’ ",
A1)

twa significant figures :

pom——
Lo
ke

2 T o
3N +HSx-9=0 1.y o -

/f‘ . ra . < . .
vty The daily wages of 80 workers in a project are given below :

. Wages | 400-450 | 450-500 | 500-550 | 550-600 | 600-650 650-700 | 700-750
i
LY | |
i No.of 2 6 12 18 24 13 5
,I workers )
. Use a graph paper to draw 4n ogive for the above distribution. (Use a scale of
2 cm="50 on x-axis and 2cm = 10 workers on y-aus) Use your ogive to ¢
estimate :
J#)  the median wages of the workers bo 5 \‘*’
S‘i) the lower quartile wage of workers §5o0ln0
i) the number of workers who earn more than * 625 daily. 2,0 [6]
\/Questmn 11
w((f Prove that (x - 2) is a factor of'3x” - 5x -2. Hence, f"LtD'l the given
expression. ‘,.-"“__‘c' : [3]
&b - Aamir has a recurring deposit account in a bank. He deposits32500 per
- month for 2 years. If he gets ¥66250 at the time of maturity, find : °
@& the interest paid by the bank. txSe
() therate of interest. \<'{ - 3]
(¢)  Find the mode of the following frequency distribution : ‘ (4]
] Class 20-30 | 30-40 | 40-50 | S0—60 | 60—70 | 70 —8¢C
interval e
Frequency -4 7 -9 11 6 9
o
" -
o* y 2y
N .3 €~ 5P
g,::_::; A I “QT
| ‘f‘i. :, ) : .«;wtsav,
*‘\F THEati b el (L),
w,a o
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